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B IS HHON:

R, = 2Q,R, = 50kQ,C = 10.0pF, f = 100Hz

1.1 NEHIE

FL i P e A5 B i 44 [RI 06 1 30-3

x 1 HGFEIZHIE

u,/mV u, /mV H/(A/m) B/T
260 14.5 150 0.390
119 12.7 68.7 0.341
56 10.2 323 0.274
17 7.20 9.81 0.194
0 3.80 0.00 0.102
-19 0.00 -11.0 0.000
-46 -4.80 -26.5 -0.129
=79 -9.10 -45.6 -0.245

-139 -12.1 -80.2 -0.325
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R,C
BS = mus = 0.390T
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R,C
B, = —u, = 0.102T
N,S

NUVAPSE

N
He = —u¢ = 11.04/m
IR,

H (A/m)

T
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PO P 7 H EIES S
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1.2 HRRTEEHE
1.2.1 BUf = 50HzRt
Tl ARG IR RLR EA «

B, = —u, = 0.0941T

M8 :
Hq = ﬂuc =9.814/m
IR,
RE A
Op, Oy,
B

MEIRZE: 041 = 2% X 3.5+ 0.3% x 5 X 8 = 0.19mV
AR ZE: 0y, = 0.05mV

WEGN: oy = /Gﬁrl +0;,=02mV

H:
o, = 0.005T
B, = 0.094 £+ 0.005T
[Fi) BE A 000 ) R R 22 «
The _ Tue
He  uc

MERZE: 0,1 =2%X17 + 0.3% X 100 X 10 = 3.3mV
Eﬁ%ﬁﬁ%%%: Ourz =1mV

WEGN: oy, = ,Gﬁrl + 0., =34mV

W
Op, = 2.0A/m
He =9.84+ 2.0A/m
1.2.2 BUf = 150HzRT
PP S VAR IV WAE

R,C
B, = —u, = 0.105T
N,S

Hemi 14 :
He = ﬂuc =11.54/m
IR,
REE AN
0, _Ou,
B, u,

MEARZE: 0,1 =2% %X 3.9+ 0.3% X 5% 8=0.20mV



WHRE: 0y, = 0.05mV

1. 3. 3BYR,C = 0.5sH°
WEGH: oy, = ’oﬁrl +05,=021mV R, skl

4 BIR,C = 0.5sHIZ=F=4nE

8
og, = 0.006T SN VRt -DC 0.020V
B, =0.105+ 0.006T
I B 0007 )R 22«
Ttg _ Jue
He  uc

MERZ: 0,1 = 2% X 20 + 0.3% x 100 X 10 = 3.4mV
BHRE: oy, = 1mV

WEE: oy, = ’Gﬁrl +07, =3.5mV
e
Oy = 2.1A/m 2 Mo 1 BRI EhZE
He =115 + 2.1A/m Sy
s _ R, = 20, R, = 50k, C = 10.0F, f = 100Hz
1.3 ANEIRTEIEH TRZEENE 2.1 NEHIE
FHUE: Iy = 0.2A. o L2 4 D R i 44 2R 30-3

1. 3.1 BXR,C = 0.01sh¥

*® 2 AFSHACEEZ R

& 2 BYR,C = 0.01spIZFEnE

u,/mV u, /mV H/(A/m) B/T
0 0 0 0
9 08 5.19 0.0215
18 1.8 10.4 0.0484
295 3.1 17.0 0.0833
405 435 234 0.117
48 5.45 277 0.147
60 6.77 346 0.182
70 787 404 0212
80.1 8.92 462 0.240
90 9.65 519 0.259
1.3. 2 BYR,C = 0.05sA¢ 101 10.33 583 0278
[ 3 BYR,C = 0.05sH9ZEF=anE 110 10.85 63.5 0.292
120 1137 692 0.306
131 11.85 75.6 0.319
142 12.20 81.9 0.328
162 12.77 935 0.343
173 13.00 99.8 0.349
182 13.15 105 0.353
190 13.27 110 0.357
203 13.52 117 0.363
212 13.60 122 0.366

223 13.77 129 0.370




*® 3 AEHMSESIRANERE

232 13.82 134 0.372
258 14.10 149 0.379
295 14.35 170 0.386
372 14.72 215 0.396
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4000 ] L]
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u
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2000 | RS

1000 -—

H (A/m)

3 Hm1ETEERH THAIE#ES R,

e 1 EIGHL T R e B EEH = O ;..
F IS HION:
R, = 2Q,R, = 20k, C = 2.0yF, f = 100Hz

3.1 MEHE
LR NE 3 WHLTRSREENT, uy, up i€ (A L

I/A u,/mV u,/mv
0.00 7.50 7.10
0.01 5.75 4.10
0.02 7.50 4.25
0.03 9.60 435
0.04 12.85 4.40
0.05 15.70 4.20
0.06 17.90 3.75
0.07 18.85 3.18
0.08 19.10 2.65
0.09 19.00 2.30
0.10 18.60 1.93

7 AISHSERLSIXR

3000 +
2500
2000
5 1500
1000 [}

500 4 .

4 ¥E& 2 #EH,, = 400A/m T AYEEL O 2

IS HHUN
R, = 2Q,R, = 50k, C = 10.0pF
MAFHARE )9
=4 D2 MR R

f/Hz Uy /MV Uy, /mV Uye/mV
20 25.0 17.0 86
40 24.6 18.6 101
60 244 18.0 115
(WA= KCF
®5 Hm2 SHMEMETHXHR
f/Hz By/T B,/T He/(A/m)
20 0.694 0.472 86
40 0.683 0.517 101
60 0.678 0.500 115
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